Name __________________________________________________
Math 1020, Exam III, Spring 2006 

Instructions:
This exam is a take-home exam.  You may use your books, notes, calculator.  You must show all work.  You may not work together.  Exam due: Monday, April 3rd.  Late exams will be penalized.
1. Prove the identity:
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begin with the right side
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2. Find one of the angles between the lines 
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3. a) Write 
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 as a sum or difference.
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b) Write 
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 as a product.
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c) Simplify 
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 [Hint: this is easy if you choose the correct identity!]
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4. Prove the identity:
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5. Be sure that your angles are in the specified quadrants!
a) Find an angle in radians such that 
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b) Find an angle in radians such that 
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c) Find 
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.93808 radians
6. Algebraically, find all angles between 0 and 2π that satisfy the equation: 
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.  You may verify your results on your calculator, but you must show work to receive credit.
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7. Graphically solve for all angles x between 0 and 2π that satisfies the equation: 
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x=.927295 rads
8. 
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Consider the triangle above.  Given a = 1.4, and φ = 65º, find the lengths of b and c, and angle θ.
c=3.31

b=3

θ=25º

9. A plane passes directly overhead at an altitude of 500 feet.  Two seconds later, you observe that its angle of elevation is 42º.  How far did the plane travel in those 2 seconds?  What is its speed in miles per hour?
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